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ter. First, he sent the eldest P

ENGLISH LANGUAGE

to guard the lree throughout the

Ml e s

B. The Princess was v
{1)/ and wanted to (2)/ matry
a man (3)/ who was intelli-

Directions {(1-8) : In the fol-
lowing stions, read each sen-
tence toqtgld out whether there is
any grammatical error in it. The er-
ror, if any, will be In one part of
the sentence. Select the part with
the error as your answer, If there is
70 errur, select ‘No error’ as your
answer. Ignore the errors of punc-
tuation, if any.

1. Any treasure found (1)/ below
the earth helonged (2)/ to the
king and not (3)/ to the own-
er of the land. (4)/ No error
(5) .

2. All the peopie (1}/ which had
gathered around {2)/ were im-
pressed (3)/ with the king'’s

decision. (4}/ No error (5)

3, Theman was (1)/ dressed sim-
ply but (2)/ his eyes shone
with (3)/ the light of knowi-

edge. {4) No error (5)

4. Trembling, he (1)/ took a
broem (2}/ and 2 bucket fully
water (3)/ and started clean-

ing. (4)/ No error (5)

gent. (4)/ No error (5}

Directions (8-18) : Read the
following passage carefully and an-
swer the questtons. Certain words/
phrases are given
¥ou locate them while an
some of the questions,

Once upon a time, there lived

a king. Behind his Palace, there
was a beautiful garden in which
there'was a tree that bore golden
apples. One day, the gardener came
to the royal court and said, ‘My
lordf Every night before
I count the appiles. Byt the next
mormning, I find an apple missing,'
- The king was alagm
.. his three sons to look Into the mat.

Zoing to bag

ed. He askeg

ery beauty

in bold to help
swering

right, But as the night pr ngdnﬁ
the eldest prince fell aslecp-

ne.
morning again an gzﬂc was p;‘fnw

The following night he 380 0 et
had to guard the tree, ext

dnight. And then
aslecp before mi 1 Now
moming, an apple was stolen. 7o
it was the tumn of the youngest prin
to guard the tree. He sai under the
tree, keeping awake. As soon as the
clock struck twelve, the youngest
prince heard a hustle through the afr.
As helooked up, he saw a bird alight-
ing on the tree. Its feathers were all
made of gold.

The prince was alest. Just as the
bird plucked off an apple, the prince
shat en arrow at 1t. The bird flew off,
but the arrow had siruck its wings
and one of its golden feathers fell
down. The prince picked it up and
took it to the king, The king was
pleased at the youngest prifice as he
had identified the thief. But now the
golden feather was the talk of the
town. This feather is worth more
than the whole kingdom!’ satd the
minisier, 'Ifasinglef&aﬂlcrissopre-
clous, [ must have the whole birdr
Eald the king. ‘And My youngest son
will go in search of it S, the young-
eat prince readily set out. After sope
distance, he saw 3 fox g
edgeofarock.Areyuuon(he

L evemng, you
P toaviﬂag;em which mm‘;“;
inns oppos
ofthem is hig ang . Other. One

rince followed the fl}x_‘a

aﬂ;ledl:;tayed there. He W‘altadad Vi

When It was midnight' b
heard arustle through the i g, '
denly, he saw the golden hirg alig
ing on the window of his Toon,
without wasting time, the Pring,
plunged at the bird and it yy, iy
his fism grip. At dawn, the pring,
started back for the palace. Oy,
way. he again met the fox Sitting
on the rock. ‘Won't you rewarq o
for my advice, O prince? askeq t,
fox. 'Of course, I will' said g,
prince. ‘Ask what you wish!’ The,
pluck a feather of the golden by
and keep it on my head, saiq i,
fox, As soon as the prince kept »
golden feather on the fox's heag
there arose a dark cloud of smoke,
When the smoke settied, the fo
had disappeared and there stooda
beautiful maiden, smiling at the
prince. The prince was surprised. 4
sorceress had changed me into afx
because I had come to know herse-
cret. Only the touch of the golden
feather could have brought me back
to my human form.' The prince fell
in love with the maiden and tock
her to his palace. The king was

it i‘p
- CWE-V (PRELIMINARYy,) | &

overjoyed to get the golden bird. He
also gave hig consent for the
Prince’s masTiage with the maiden
Tn a grang ceremony, the youngest
martled to the beautiful maiden
%grlogeﬂmer. they lived happily ever

6. Which of the following is most
Nearly the same in meaning®

7 Asmentioned in the story. the

eSt prince decided S

~ 1.2 subistandard gy becau™
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. "{A) he did not want ta hunt the

) he was advised to do so.
] il:g:ed it better than the oth-

w (1) Only B
t}ler (2} Both B and C

ty {‘"e.41 (3) Only A

! @ oniycC

M, Wi of the ol

L % of the followin

F:;"ﬂﬁé nearly the same in mmuf;
w by theword "ALARMED' a5 used
Bnﬂ“t% in the story?

my A% (1) disturbed

'ﬂltp,; {2) depressed
E‘“&,&'& (3) discouraged
n fm% {4) encouraged
@ g Which of

ch of thy

e nearly the oot o v
Wiy, tng to the word ‘FIRM' as us
3 Dl in the story? :
Tead, ey (1) strong
T {2} nice
3 s (3) loose
(mddm?' {4 indefinite
titled, (het (5) doubtful
|ﬂlmm§§ 10. Which of the following char-
miling acteristics of the youngest
i supriel] prince comes across distinct-
d et . Iy through the story?
— (1) He was mischievous.

{2) He was popular.

i
"“Mﬂi (3) He was notorious.

“’gh;ﬂ! (4) He was obedient.

e s {5] He was greedy.

dmmﬁQ 11, As mentioned in the story, the

e ik} king chiose the youngest prince

1620 o to catch the bird because

'm@éi (1) he was one of his favou-

h'h;ﬂﬁdi rite sons.

memydé: {2) by that time he had more

i O faith in’ his capabilities.

arst? (3} his wife had requested him
5 to assign this task to their

i youngest child.

in wﬂ‘l‘ (4) only the youngest prince

Lo knew the way to the for-

est.

(8 None of the given options.
- 12, Which of the following state-

of the story?

feathers was the gardener’s
pet.

' alaemthccontcxtoftl'lesentencc.

ments {s true in the context

{1) The bird with the gold '

(2) The eider brothera were ak-
ways jealous of the young-
est prince.

{8) The fox misguided the

young prince. :
(4) The gasden behind the pal-
ace was renowned for bear-
golden fruits.
(5) None of the given state-
ments is true.

13. Which of the following is most
nearly the opposite in mean-
ing tothe ward "CONSENT’ a8
used in the stary?

(3) protect  {4) dejection
(5) throne

14. Which of the following cor-
rectly explains the meaning of
the phrase ‘talk of the tovm'
as used in the story?

{1) A rare decorative item

{2) Easy to handle

(3) A popular topic of discus-

sion .

(4) Insignificant

{5) Expensive .,
155. Which of the following can be

an appropriate title for the sto-

TS Do

(1} The Wise Fox
(2) The Lazy Prince ~
{3) The Secret Behind The
Rotten: Apple
{4) The Bird With The Golden
Feather
(5) The Golden Apple and UIis.
'Health Benefits
Directions (16-20):In the fol-
lowing questions, a sentence with

17. The ecorjomy is on the part
to recovery and slowly but
surely the banking secior will
well. )
(1) part (2) recovery
(3} swrely  (4) perform
(6) Al correct
-18. Asset Reconstruetion Compa-
nies help troubled busyneas
by providing funds and exper-
tise to manage better.
(1) help {2) troubled
(3) busyness {4] manage
(5) All correct
19, The Aslan Development Bank
has supported the govern-
ment's latest efforts to deliv-
er quality health services to
all sections of soclety.
(1) supported
{2) latest
{3) deliver
{4) sections
{5) All correct
20. A case based discussion gives
students the chance to diag:
poge 2 problem and dibate on
. solutions to the given situa-
tion.. . .
(1) problem {2) dibate
(3) solutions (4) situation
(5) All correct o )
Directions (21-26) : Rearrange
the given six sentences/group of
sentences (), (B), {C), (D}, (€) and
[F]mapropersequencesoasto
form a meaningful paragraph and
then answer the given questions.
{4) One would find all kinds of
strange things in his room.

fourwords in bold typeis given. One
of these words given in bold may be
sither wrongly spelt or inappropri-

Find out the word which Is wrongly

spelt or inappropriate, if anty, That |

wordisyuuransv.'er.lfalltlmwords
glwnmboldarecortecﬂyspeltand
also appropriate in the coniext of
the sentence, select 'All correct as

your ANSWET.

16. Now one can bye mutual |

funds and other financial
ete such as insurance

policies online.

(1) bye {2) mutual

{3) products {4) insurance

(B) Once, he built a pulley system
so that he could all the draw-
ers in his dresser.

(C)} After that, Marty had to take
his experiments to the shed.

(D) Marty Toved sclence and was
always doing experiments at
his house.

(E) His mother got all tangled up
in the ropes was struck
there for half the afternoon.

a1. Which of the following should
be the THIRD sentence after

{5) All correct

the rearrangement?
QA E (2 D
3 C (LR
(6) A

sl E

i H:'::;;uﬁsiW's-'.ﬂ




L
oA
L@ e
(@D
Which of the following should
i1be the FIRST sentence after
-jthe rearrangement?
A E @D
I C A@B
5} A
24. Which of the following should
be the SECOND sentence af-
ter the rearrangement?
{na @28 .
3 C {4} D
o G E
R . % Which of the following should
' BetheLAST (FIFTH) sentence
after the rearrangement?
{i)a 2) D
Gc , 4 E
B) B
N Directions (26-30) : In the fol-
. Jowing passage, there are blanks,
. each ofwhich has been numbered,
i ' Against each, five words are sug-
ER Bested, one of which fits the blank
.+ - Approptiately. Find out the appro-
©  priate word in each case.

", Onday a young approached a
-beacher, “Sir, 1 see so many people
around me talking a lot and every-
;" one(26) to be impressed by them.
» But my mother scolds me if [ am
*  [27). She says only fools are talk-
| 'ative.” The teacher smiled,

2)E
4 B

1! M calls and screeches alf day,” {28)
:1 the teacher, ‘But people hardly pay
i ‘Any attention to it. (29) the other
v} band think of the rooster. It crows
% garly every morning and we start
iy our day. (90) how much ce

.; pedple attach to its call.' Yes sir, [

:I]

1;understan’, satd the hoy, “Talking
55 alot is of o use. It 1s important to
sibg the right thing

Kensible and say
2t the right time,”
284 (1) seems

: WHich of the following should
be the FOURTH scntence af-

ol

* ., ; 'Consider the notsy miner bird, _

82. What s the respective ratio
between total number of
visttors in lUbraries B and p

together on Monday and that
in libraries A and E together
{1 7:12 @e:11
311:13 4 1). 15

. (B 9:13

33, What is the average number

of visitors 1n library ¢ on
.Monday, 'Ihurqday and Fri-
day? ‘

() ns (2) 124
Tuesday and (hat mﬁﬁgﬂ:

A

ga;?"d E together on Wednes,

ICSE-1g2

ge. (1) With
— 29 (3) By . {4) From
27. (1) sossiie’d (5) In
{2) warrt ated 30. (1) Seetng (2} Tha
(4} spoken (5] tg;kaﬂt (3} Stmtlarly
28, (1) tells () uES ) mectss
(3) troubles  (4) explain (6) Unnecessary
) pmdicted ]
NUMERICAL ABILITY
(31-35) : Study the table carefully and answer the g,
Directions (31 :
questions. o  libraries during B given days )
Number of visitors ednesday | Thursday _Fr;i:a?‘
Days |Monday | Tuesday
o - T
141 80 123
C 151 115 ——|
. 108 153 108
E 121 104 183 55 40~
2) 115
81. Number of visitors in library (1} 113 (
B increased by 20% from Fri- (3) 125 (4) 103
day to Saturday and that of (5) 111
visitors in brary E decreased | 38, Number of visitors in Hhrayy
40% from Friday to Satur- B decreased by what percent
by ] y
day. What was the total num- from Tuesday to Thursday?
ber of visitors in libraries B and (1) 42.5 (2) 205
E together on Saturday? (3} 489 (4) 36
(1) 320 (2} 300 (5] 44 :
{3) 270 4) 310
(5) 290

J6.

. nonthly sala.ty to Simi. Out

3
Ron{ gave 7 th of 20% of her

of the amount Simi received
from Roni she gave 40%
S tuition fees and the
Temaining Rs. 2,700 Stin! kept
with herself. What was Ronis
Mmonthiy sal
(1) Rs. 30.08-{1)3’?
(2} Rs. 35,250

When 2 is added to both ¢
Numerator and denominat®
of a possible fraction, the fra

@ on (5]9:

{5)

(1)

3
ton thus obtained is 5 Ifthe

denominator is 6 more ﬂﬂ
€ Numerator. what is UF

original value of the dens™
hatorp

Nﬂmw‘ﬁ,ﬁ

e Pt b



' n 8 (2) 13
i3) 23 {4 3
{51 18

g8, The squarc of a number x 15
g0 more than the square of
another number, y. If the val-
ue of xis 1.5 thnes the value

of . what Is thé difference be-
tween the value of x and that
|an% of if?
tr‘h! M4 (2) 6
N voo@2 @
)
QQ?‘\ pirections (39-48) : What will
Fﬂ% * come in place of the question mark
_ Cmin the given questons?
~ 3
\% 30, 7+ 405.5 + 183.75 =630 +
K% (1) 25075  (2) 225.75
~J BN @408 (132028
--..hlh\ (5] 350.25
-'-_N@ 40. 80x 54+ 1.2-7 =980
~2 (1) 345 ) 330
@ 155 i3) 370 (4) 430
Gw | [(62®
41. 884 + {0.45 % 27} =240
Bﬂmmh 3 20
by what ey~ () 4 1
" b0 Thursisy FE 5 2
El}ggj | 42. 60%of 7 +111=75%0f 220
{1) 200 (2) 1600
3 3600 4) 225
hotowas] 5} 8100
Ttﬂsmﬂ'm 43. 3% x 1683 = 109; J295 =
t St 82
mn fmsz;‘w .g
%;‘:“- Wl W 2 13
(S} 10 (4} 14
4 ©) 12
5 3 I
[5-5—2;-- 4] Of?=483
o (1) 232 (2) u;
{3) 184 @1
1ed ¥
: ddmﬂﬁ (5) 216

2
45, .J4524 + [%-] =?X25

(1) 18 2 17
(3] 15 (4) 21

= SOIVED PAPER—16|'=___.—_=—_._—_—£# MODEL SOLVED PAREE -
PAPER-
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46. 45% of 560 - 50% of 254 = @
2) 8
{4) 5

(1) 4
37
(B5) &

§ L -2; 7=18
7.24x25x =

1 L
(1) 33 2l 46
1 1
@1y @ 33
5 55
48. Jg33+23+008-7 =29
(1) 87 (2) 91
(3) 83 (4 97
(5) €3
40. Thelength of arectangleis 1.5
times its breadth and the side

of a square g equal to the

length of the rectangle. if the

area of the sguare is 147

square metre more than the

area of the reciangle, what is

the area of the rectangle?

(1} 280 square metrs

(2) 292 square metre

{3) 326 square metre

{4} 312 squake metre

(5) 294 square meire

After 17 years, Kavya's age will
be 71 years. Kavya's present
ape is 6 times of Diya's present
age. [f five years henoe, the re-
spective ratic between Dlya's
age that time and Farah's age
that time will be 2.: By by how
many years is Farah older to
Diya?

(1] 21 (2} 20
(3) 23 (4) 27
{5) None of these
There are iwo varieties of rice-
A and B, which are mixed in
the respective ratio of & : 3
Rice A is worth Rs. 16 per kg
and rice B is worih Rs. 28 per
kg, Whatwas the worth [in per
kg) of the new mixture of rice
{of varieties-A and BJ?
(1) Rs. 18.75 (2) Rs.22.80
{8) Rs. \7.75 {4) Rs.25.25

BO.

51.

B2. There are threebays- A, B and
C in a family. The average
welght of those three boys 1s
84 kgs. If the average weight
of Aand B1s 40.5 kgs and that
of B and C is 63 kgs, what is
B's weight? [in kgs)

{1) 40 (2) 45

©) 46 (4) 465

{5) 43.0

A can Antsh a plece of work in

30 days. He worked alone for

6 days and B joined him.

Together they could finish the
rematning work in 9 days. In
how many days B alone can
finish the same plece of work?

{1 12 {2} 18
(3 15 {4} 14
(3) 10
Directions (54-58) : What will
come in place of the question mark
(7 in the given questions ?
G4.24 26 81 41 7 8
(1) 61 (2) 62
(3) 88 (4) 54
{5)-70
§6. 10 13 22 49 ? 373
(1) 130 {2) 119
- [3) 145 [4) 178
(5) 126 )
B6.17 8 7 .9 .18 ?
(1) 45.5 (2) 345
{3) 37.5 ) 32
(5) 42
g7, 20 , 44 ,.086.8¢ 98 2
(118 {2) 132
(3) 102 4) 124
(5} 100
58.6 5 872 8 ?
(25 ° (2) 312
(3) 395 (4) 178
(5) 264

0. A and B started a business
with an investment which is
in the ratio of 5 : 2 respective-
ly. After 8 months from the
start of the business, C joined
with an investment which was
twice A's invesiment and af-
ter 10 months from the start
of the business B withdrew all
of the amount that he inveai-
ed. If the total annual profit
was Rs. 6510, what was the

Jifference between A's ghare in
the annual profit and B'a
share in annual profit?

(5) Re. 20.5

1 ®13 .
g w/‘ ICSE-183 l____________—————_————-_:_s=
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(1) Rs. 1426 (2} Rs. 1380
{3)Rs. 1860  (4) Re. 1560
(5) None of these
69. A hoat can travel 16.2 km
downstream in 36 minutes. If
the respective ratio of the speed
of the water current and the
speed of the boat in still water
s 1 : 8, how much time (In
minutes) the boat will take to
travel 6.3 km upsiream?
{1)18 {2) 16
320 (4)22
&2
81. Two cars (A and B) started from
the same point at the same tirne
in opposite directions (one
towards north and other
towards south). Car A travelled
adistance of 122 kmin 5 hours.
I the speed of the car B1g 8.5
m/s, what Is the distance
between them after 3 hours?
(1} 158 km 2) 144 km
{3) 185 lan (4) 160 kun
(D} 165 kem
2. The selling price of @ chairs
and 5 tables together is Rs.
3720 and that of 3 chairs and
2 tables together 13 Rs. 1390.
What is the selling price of 3
tables?
{1) Rs. 1200
2) Rs. 1260
{3) Rs, 1320
(4) Rs. 1140 '
(5} Rs, 1240 '
63. Thelength ofa rectanguiar plot
is 13 metre more than its
breadth, I the rectangular plot } .
was fenced at a total cost of
Rs. 918 at the rate of Rs, 9per
metre, whatis the length of the
plot? fin meires)
(1)19 (2) 32
(3)22 {4)24
(6) 30
€4. Atrader sold an article at*1929
loss. Had he sold the same az-
ticle for Rs. 76.50 more, he
would have earned a profit of
5%. What would be the s
price of the article if 1t is sold
at 16% profit?
.(IJ uRSo 522
(3) Rs. 530
(5) Rs, 520

3
N
t

(2) Rs, 540
{4} Rs. 512

€0, If'2 is added to the

apective ratio of interest
he

or, what ia the value of

(1) 15 @ 24

(8) 18 {4) 12

5) 16

REASONING

Directions (66-70) : The
following questions are based on the
five three digit numbers given below :
192 758 275 643 584
66. The position of the first and
the second digits of each of the
numbers are interchanged.
What will be the summ of all the
three digiis of the lowest num-
ber thes formed?
(118 (2) 17
31 9) 13
(5} 12
67. If all the digits in each of the
numbers are amngcd n as-
- cending order within the num-
ber, what will be the difference
between the highest and the
second highest numbers thus
formed?

1) 201
{3) 100
{5) 221

{2) 112
(4) 438

B88. What will be the resnitant 4

the second digit of the highes
number is divided by the thir;
digit of the lowest n

(1) 8 (2} 25

(3 3.5 4) 2

(3) 1

third

of every odd number and ijgil:
subtracted from the secong
digit of CVETY even number, 1

’J'w,

' distance between ea.t:hotho:r]:.mml

how many numbers th (4) B (6) €
e o sond it | 75 Who amonget e |
O o @i wo
(5) None @ c @A

:
¥
]

| ODEL SOLVED "%;35
, ﬂﬁénﬁﬁmm% N,
ﬁ.lmndﬁ;g order from leg, 1
t. What will be the dlfﬁ:-n
ence between the secong dig}l
gy,

70.

d the third digits of the
;-;rwlﬁchisﬁmﬂﬁ'omth:]m?
(1) 4 (2) 7 1
@1 4) 3
(8) 5 .

pircctions {71-75) : Syq, the

llowing information
gswer the questions given belﬁ?;d
Seven persons — A, B, ¢, D-K:
L and M — are seated in a_a[ﬁm

line facing north, with equg

- - S
g. ool T M T el ARl T K] &

3%

necessarily in the same order,
© D sits fourth to the right of);
Neither D nor M sits atanm
the extreme ends of the line,
& A is one of the immmediat,
neighbours of D,
©O B sits second to the left ofK.%
is not an immediate neighbgy
of D.
© Only one person sits betweeng
and C.
71. What is the position of K wity
respect to D?
(1) Second to the right
(2) Fifth to the right
(3) Fourth to the left
(4) Third to the left
(5} Third to the right
72. Which of the following repre
sents persons seated at thetw
extreme ends of the line?
{1} B, C 2 K, L
(3] B.L (4) C.K
(35) A B
73. How many persons are seaid :
between A and C?
(1} None (2} Three
(3) One (4} Four
{5) Two
74. Who amongst the followi®t
sits second to the left of If
(1) K 2L
(3) No one, as less than & 1
persons sit to the ek |

@
o=y M W T T e

-
EE O M/ g e

B) K

y; o~
r
MDD P oo~



iyl
g{si

i
'ﬂ‘l-i (1) Cannot be determined

!lfl!
Y

L

K
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76 ;0.2 certaln code lanpuage,
- Giay the music’ is coded as
434", Similarly ‘live mustic

AT

E concert' is coded a8 ‘542" and

¥ ‘play guitar ive' is coded as
* 38", What will be the code of
: *guitar’ in the given code lan-
. (ether For'y

Y @8

¥ @etherZory

“L w2 (5) 3

g Directions (77~78) : Study the

W gilowing information carefully and

N gnswer the questions given below :

| FisthegrandsonufU.Misthe
gother of F. M is married to P. P18
memnofG.Glsmamedtolt
™ How is K related to M?

t (2} Daughter-in-law
(3) Father (4} Mother
(5) Daughter
m.HDisﬂiefatherofM.then
how is F related to D?
(1) Father  (2) Grandson
(3) Son {4) Brother
(5) Grandiather

79. Howmany such pairs of letters
mﬂleremﬂ)ewordSHARED
each of which has as many
letters between them in the
word (in both forward and
backward directions) as they
have between them in Engiish
alphabetical series?

(1) Three (2) None
i3) One

{4) More than three

{6l Two .

80. All the letters of the word GlA-
CIERS are arranged in alpha-
betical order from left to right.
Then all the consonants are
replaced with the next alpha-
bet (as per the English alpha-
betical order), then which of
the following will be the fourth
letter from the left end?

{11 (2) C
B R (4 M

__ G H

. 81, Ina straight line of twelve per-

sons {all facing north), only

five persons sit to the left of

L, Only three persons between

i :Candl_._. G sits second to the

H — have different heights. E is

the following information carefully
and answer the questions given
below : >

t of C. Only five PerY
1a;ll%hl:w.tvw':en G and M. How
smany persons sit between M
and L?
(1) Two
(@) Fve <~ @) Thiee
(5) Canriot be determined

(82-89) : Study the
following tnformation caxefuily and
snswer the questions given below :

taller than G but ghorter than both
DandH.FlstaﬂeTthanDhut
shorter than H. The one whois the
third shortest is 162 cm tall. The
one who is the tallestis 179 cm tall
62. fEis 18 am ghorter than D,

then what is the difference

between the heights of H
E?
(1) 1lcm (@) 19cm
(3) 28cm (4) 35cm
(5) 8cm
83. Who amongst the following 18
162 cm tali?
ME @D
(@) H @G
OF

84. In a certain code language,
SPRAY is coded as RQEBEX
and LIONS is. coded as
KJNOR. In the same code
language, how will TANKS be
coded as?

(1) RCLMQ (2) RBMKQ
(3) SBMKT  {4) RCLKS
5 SBMLR

86. If all the digits in the number
13674825 are arranged in
descending order from left to
right, the pesition(s) of how
many number{s) will remain
unchanged? =
(1) Three . - (2) None
(3) One " . =
(4) More than three
(5) Two . |

*

Directions (86~ 80) : Study

i
Eight parsons - O, P, . R, 8,

T, U and X'~ are sitiing around a
circular table facing the centre but
not mmw in the same order.

@ O sits third to the might of ©.
Only three persons sit between
o

and V.
© R sits third to the right of S,
© 5 Is nol an immediate neigh-
bour of C.
© U sits to the ymmediate left of
p.Uisnotan jmmediate neigh-
bour of O.
g6. How many persons are seated’
petween S and U, when count-
ed from the right of 57
{1) Two (2) Four
(3) Three (4) One
(5} None -
87. Who amongst the following
represents the immediate
neighbours of R?

mu.o @ Q.V
36T 4 0.8
®»uT

g8. Who amongst the following
sits third to the left of V?
L u @PF
S 4R
{8) T

89. Four of the following five are
alike in a certain way based
on their positions in the given =
arrangement and so form &
group. Which is the one that
does niot belong to the group?®”
(1) sUo (2) USR
(3) PIQ 4) VOS
(6) @RT

©0. Which amongst the following
statements is true regarding T,
as per the given arrangement?
(1} Esits second ta the left of

_ {2) Only three pe:rsohs sit be-
tween T and V.
(3) Only two persons sit be-
tween T and S.
(4) T is one of the tmmediate
neighbours of U.
(5) None of the given state-
ments 1s true
Directions (81-98): In cach
of the following questions. a group
of numbers/symbols followed by
five combinations of letter codes is
given. You have to find out which
of the combinations correctly rep-
resents the group of numbers fsym-
bols based on the given coding sys-
tem and the conditions and mark
that combination.as your answer,
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* . MODEL SOLVED PAPER-16 |

Nomber/] 58] 6% 6]

Symbol -| | | | -

Lefters [Z|H|J|B |T|
code -

Conditions :

(1) X the second and the fourth
elements are even pumbers
then their codes are to be
interchanged.

(1) If an odd number is immedi-
ately followed as well as im-
mediately preceded by a sym-
bol then that odd number is
to be coded as =

(it1) If the last element is a symbol
then the third element is to
be coded as the code for that
symbal.

(v} If the first element Is an odd
number then the code of that
add number is to be inter-
changed with the code of the
fifth element.

(Please Note : All the elements
have to be counted from left
to right to fulfill the condi-
tons).
91.86% 3*59
(1) TB=XPU (2} UB = XPT
(3} TXCXPD (4) BICXPU
{8) TH =_I-':[_P{
92. 8£+425 .
(1) HYJFMJ  (2) FHAMYJ
(3} HMJFYJ (4) JMUFYH
(5) HMAFYVP
23. 7% # 289
(1) YBKEMU {2] LKYUMB
{3) MBKYLU (4) MEYBLU
(5} LKYBMU
94, +35+84
(1) CAPXHZ (2) AJ!EZCI-{Z
{3) ACPY=Z (4) AC
(6) CAZHXZ
85. A654 43
(1} ZFJ=KzZ (2} ZFPTKC
(3) ZFETCJ (4} ZFITKC
(5} CRJTKZ '
Directions (96~ 100) : In each
of the following questioris, relation.
ship between diifferent elements is
shown in the statements, The state-
ments are followed by two Conely-
slons numbered 1 and 11 Study the
Conclusions based on the state-

tru

e con-
if either
Give anower (2)
clusion I or Conclusion Iis hgoen !
Give answer {3) if neithﬁ Co
clusion 1 nor Conclusion i e
Give answer (4} if only
Iis true _ !
dusgize answer {B) if only Con
clusion H is ttue
96. Statements :
C=L>EzRz2K

97. Statements
O>N=L<Y;LgP
Concinsions :

L O»Y
oI P<cO

98, Statements :
L=I1>M>E
Conclosions !

L L>E
I E=L

99, Statements :
E>Q<U=T<M
. Conclusions :

. E>T
. M>g

IOO-Stﬂtments:
FeA<T>H>E
Conclusions ;

. FeT
H A>E
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- menis and mark the appropriate
answer.

6. @)
10. {(4)
14, (3}

q)
=/

7

f

s

}#
2,

i

18. (3)
22. (2)

3

26, (1}
30. (1)

218
a/s|
Bj¥)s

4
8
2lae

34. (1)
- 38. (1}

——
-

39.(1)

42.(0) | 43.9)

£s

46.(4) | 47.()|

B

80. (1) | 51. (5.

&7

854. (3} | 85.(1)

58. (3) | 59.(3)

28

62.(9) | 63.09 | ey

66. [4) | 67.(3)

70.(1) | 71. (@)

74.(2) | 76 (1)

78. ) | 79.(1)

82.14) | 83.2)

86.(3) | 87.11)

80. [5) | 91. (1}

M. (4} | 95.(2)

98. (2) | 99.(5)

wwldmnl’mkashan.c.,m

EXPLANATIONS

1. (2) The sentence shows a gen-
eral rule/system. Hence
Present Simple i.c., below/n-
der the earth belongs ...
should be used here.' -

2. (2) Who s used to show which
Person ar people you mean.
Hence, who had gathere!
around .... should be us®
here.

3. (2)It is position of words®
lated error.,

Look at the sentences®
You can enjoy all the i
Sparts, or simply lie o7
beach.

The view is simply wonder
Hence. simply dressed b~
should be used here” i
4. (3)Here, and a bucketf’
* water ..., should be usﬁ&.
Fally (Adverb) = complc' 0,

B. (N Here, Adjective i
Prinicess was very w3

should be used. L

14

17

18

&

3



| MODEL SORED PAVER-16.

" jo0k ot the sentences :

R he beauty of nature {s beyond

\}, . *-gescription.
sita fs & beautiful lady.

s [ Following {Adjective)

= next in time; Subsequent:
coming after something else.
Look at the sentence :
pevelopments on this issue
will be dealt with in a follow-

;' g report.

g (Alarmed  (Adjective)
= arixdous or afraid that some-
thing unpleasant might hap-
pen; disturbed.

Look at the sentence :

She was alarmed at the pros-
pect of travelling alone.

9. (3) Firm (Adjective) = fairly
hard; very tight: strongly fixed:
sirong and steady-.

Look at the sentences :
With a firm grip on my hand,
he pulled rrie away.

Check that the plug has not
1 come loose.

> 19, (2) Consent (Noun) = permis-
. sion to do something: agree-
ment. .
Denial (Noun) = refusal; a
statement that says some-
thing is not true.

Look at the sentences :

He s charged with taking a car
without the owner’s consent.
!Le-ﬁﬂ’-”"%  The terrorists issued a denial

y el [ of responsibility for the at-
dhgt, f ] tack.

g% 14 (3)She became the talls of the
et towm (= very famous).

L
P“lﬂﬂgﬂ 18. {1) Correct spelling is : buy.
ﬁddb"‘ﬁ!. 17. (1) Appropriate word shouldbe
4o 18 (B Correct spelling is : busi-
® L 0.@0 debat
. 20. (2) Correct spelling1s €
;eﬂ"t’fﬁ- 29. (2) On the other hand S used
J%4 1o introduce different points
s of view, ideas etc-

J 31. (3) Number of visitors on Sat-
r ?l‘
. E
b‘:

o
Md '
d

urday :

158x120
Library B= — oo = 120

UbrayE= 100
A Required answer = 186+84

32. {5) Required ratio |
= (91 + 125) Y(157 + 155)
=216:312=9:13

a8. (1) Required average

161+80+123 _ 354
3 T8

=118

a4. (1) Required difference
=(141 +183) - (98 + 113) .
=324-211=113 -

a%. (3) Percentage decrease
180-92 880

= 180 X].OOB 18 --48.9

36. (1) Let, Roni's monthly salary
be Rs. x. :
. Amount given to Sini

3 20 3x

o (B 2] e 5 |

4 100
Amount kept with Simi = 60%
8x 60 .

Ox '
= Yoo =2700

2700% 100
S x=""g

= Rs. 30000
37. (2) Let the original fraction be
X
xX+6
According to the question,
x+2 3
x+8 B

.

= Bx+10=3x+24 o

= 5x-3x=24-10

14
= 2x=14=X= "o =7
. Required denominator

=x+86=T+6=13
88. {1) According to the question,

2 - =80
= (LB y2 -2 =80

= 1.255“:30 Ve

L3 h
LIV

80
= =15 =%
= y=8 ' -
o x=15y=15%x8=12. -
oo x-y=l2-8=4

' '-‘-QJ'F.: 3

[ x=1.51

80, (1)? +405.5+ 183.76
= 630 x %
= ?+589.26 =840
— 92=840-589.25=250.75

80x 54
40. (3) 12 —? =080
= 1350-7=980
- ?=1350-980=2370
41. (1) 864-!-(0.45x2?]=240
88 o
= 045x2°
= 864:240'x0.45x2’
? = __ffi__- -
= 27= 3 0%045 ©
= 97=0%=7=3
60x+? 75x% 220
D

42. {3) ——IE-—'+111= 100

3x?
B

8

= +111=165

= i’%ﬁ =166-111=54

54 x5

=90
= ?=90%90=8100

43. (2]-14E x 162+ 107+ Jﬁg

-

15 1 1
= x 162 % o X 15

=15-7=2
= 7?=15=-2=13
45 11 1
44. (3} ?of [—8—'——4-"-;] =483
45-22-2
= ?af( B ]=483

# AL a0 ' e,

o B

P

b —— Y



45x560 HOx2H4
160 ~ 100
=252-127=125

. 7= Y195 =5

9 12
7l g x g x?=18

46, (4) "=

27
iy x7=18

i8x5 10 1
= = = -

27 ~3 ~"3
46. (5) Je3s1+24+008-7 =29

, 24
e 634""6.@-? =59

= J6344+300-? =29
= Jfo3¢-7 =29

= 934 -7=292 =841
= ?=034-84) =93
49. {5)Let the width of rectangle
be xmetre,
& Its length
= L.bxmeire = side of square
According to the question,
(1.8:%~ 1.5x % x= 147
= 2.25x2- 1.6 =147

= 7a

= 0.75:2 =147 "\
- 2 147 . 147 %100

T 075 75
=196

A 1’19‘6 = 14 metre

~ Area of rectangle = 1,52
=16x14x 14 o

=294 5q. metre
_80. (1) Kavya's present age
=71-17 = 54 years

5l

: '8
R a:l‘ﬂ-h E- 2. *
:.)cj.:amra'ﬂ age=14

: 35 quy:::rsi.l'ed difference
ki o
Smeya-oie

. Cost of whole mixture

=Rs. (5% ]61-3}(23}
:RS.[80+84)
=Rs. 164

164
~ Required cost = 'a"

= 20.5 per kg'

(2) According to the question,
A+B+C=3x54=162kg.
A+B=2x40.5=81kg.
B+C=2x63 =126 kg.

~ B's weight = (A + B)'s
weight + (B + C)'s weight —
(A + B + C)’s weight

=(8] + 126 - 162) kg.

= (207 - 162) kg.

=45 kg.

1
21 A" = —
(2)A's 1 day's work 30

8lo
n-
A

A's 6 days’ work =

A and B together do %th
work in 9 days, e

9%x5 45
work in = ——— _ 29

o~ {A‘l" B).S 1 day's worl =i -
45

" Bsldayswork =

§4. (3

49+34=49+81=
130+35= 130+243=373
6. (3)The pattern is ;
]7x0.5-0.5=8-5-—0.5:—.3
gxl1-1=8-1=7
7%1.5-1.5=105-1F.4
ox2-2=18-2=1¢
16x2.5-2.5=40-25=375
57. (5) The pattern {s :
20+ 212=44
44 +22(=24-2) =86
66+ 18(=22-4}=84
84+ 12(=18~-8)=96

96 + 4 (= 12 - 8) = [100]
§8. (3) The pattern is ;
6xl1-1=6-1=5_
5x2-2=10~-2=8
8x383-3=24~-3=21
21 x4-4=84-4=80
80x5-5=400-5=2395
B9. (3) A’s investment = Rs. 5x
B’s investment = Rs. 2x
C's investment = Rs. 10x
Ratio of the equivalent caph
tals of A, B and C for 1 month
=5xx 12 : 2xx 107 10xx6
=3:1:3
Sum of the terms of ratio
=3+1+3=7

3-1
===~ x65810

60. (1) Rate downstream of boet

~ Difference between
shares of A and B

7.
= Res, (%x 6510) =Rs. 18
. Distance
T Time

16.2
36 [ kmph

“the pattern is. ‘\I\‘.

24+ {1+ 12)=24+2=25
g6 + {1 + 22’ =26+5&31
31+(1+389=31+ 10<gq,

41+(1+4"’1=41+17=

58 + (1 +57 =58+26ug,
gs. (1) The pattern is ;

13+32= 13+9=22

09 4+ 33 =22 + 27 =49

61-
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e = 102 metre =yl{1.12~}) It
K :ﬁ [_1_5.’;’29.] kmph Let the length of plot be x =Rs. 0.21y yitat-n
4. Tﬁ- = 86 According to the qweaﬁon
| *1,?‘\,- =27 kpumh e e preadth = (- 18) metre 3
'stf“&‘% ge:?nmm : Specd of n 2berx-18)= joo _18 _8x 18
X al er=1: - =7
3{]3 ‘ﬁ\ ~ Rate downstream = 8x+ x = 2x-13= ']L—gg' =51 021y 7 ! 4
S = 9xkmph, 18x 21
2? =}2x=51+13=64 = 3x= xl8x3
'Y X 9x=27=>x=i7- = 64
iy 9 = x= —— =32 melre = x=18
ol - Rateupotream 3 66. (4) 192912
'ﬁa*h . ‘= 8x- x= 7xkmph. 64, (1) Let C.P. of article be Rs. x 756 = 576
&-5 - =21 kmph. At 12% loss, 275=725
o «~ Time taken in covering 6.3 . xx B8 643 = 463
™ e - $.P. of article = g9 584 = 854
fa"ﬁ ! km = 5y hour The lowest number = 463
o g, 2% Required sum =4 +6+3=13
Dy L (6_3_x60) | 26 67. (3) 192= 129
S =21 minutes According to the question, 756 = 567
I"‘BE = 18 minutes 22x L 765 = 2%x105 'gig:gg
sy ' 122 25 o100 564 o 455
o5 g1. (B)Speed of car A = 3 losx  22x Highest miniber =» 567
= ~24.4kmph = 350 - 25 =765 Second highest mumber = 458
Speed of car B = 8.5 m/sec. Required difference
= 85x18 ) =567-458 =109
5 ,.( ) lmph. - 106x-88x ... o 68. (5) Highest number = 756.
=8 100 i Its second digit = 5
9] -'-'30-31““5'1'1‘ _ 17x Lowest pumber = 275
s - Both cars arc running in op- = =765 Its third digit = 5
528 posite direcﬁor:i. 100 _ : 5 Tl
- &~ Relative spe - = -
j;sx Z (24.4 +30.6) kenph. o oy 7851); 100 = Rs. 450 Reguired resultant 5 1
cu|  =59kmeh ot o 69. (2) 192152
L[.mit?? . Distance covered in 3 hours For a profit of 16%, 75E6=716
[ -3x55 165 km. 450%118 275 =277
T 62. (4)S.P. of 1 chaif = Rs. x (le S.P. of article =~y 643 = 645
h S.P. of 1 table = Rs. y (et ~Rs. 592 84— 544
e According to the questiofi 65. (3) Le the amount invested be In 152, the second digit is the
9x+ Sy = 3790 () Rs. y. ater than the third digit.
iy 3x+ 2y = 1390 -- ) o1 received fromschemeA | 79 (1) Ascending order of num-
vee By equation: (i) x 3 - {I). bers :
9x+6y 4170 _ Principalx Timex Rate 192 <275 <584 <643 <756
Ox+ 5y = 3790 100 Required difference = 8 -4
- = =4
_yxdc o 3 (71-75) :
r = Rs. 380 100 100
5 |Bﬁ : ~ SP. of 31iables C.1. received from scheme B B MKLTCD A
= Rs, {3 x 380} :
¥l ZRe 1140 | [,,,_R.]““-ﬂ 1 | T T 1 | T
83. (2) Rate of fencing =P|{"" 100
= Rs, 9 per metre. - - 71. (4) K 1s sitting third to the left
Total cost = Rs. 918 I 1 of D.
018 _ (H,lg) -t '72. {5)B and A arc seated at the
> Perimetre of plot= g =y ) 100 ] two extreme ends of the line.
o 4 M’ ICSE-189 '=_—_—————————"—-:
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| in=law or mother-in-law of M.

i (@vd music concert —3 5 4 @

w0
e
=FEE

Momnsor.vm PAPER-16|

73. (31Only D {s sitting behween
Aand C.

74. {2) L sits second to the left of

i D.

; ’L 78. (1)L sits exactly in the mid-
i dle of the line.

! 76. (2}

‘*A the music

_}QE‘I‘

..-,-'Ij @ gultar@ — O 3] s

The code for ‘guitar’ is 8",
{77-78) ;

F i3 the hushand of M.

P is the father of F. -

P is the son of G and K.
T7. (1)K is either father or moth-

erof P,

M iIs the wife of P.

Therefore, K is either father-

T L T b ma

e Y i i

78. (2} M is the mother of F.
F i3 the grandson of 1.
KD is the father of M, then F
is the grandson of D.

79. {1} Iﬁ
19 118 5 4
] ARED

T _ 1t

80. (5)

G L A CI ER s

A C E ¢

A AR

A D E l{_ﬂ I M § T
Fourth from the left eng

81. (1)

C G L M
treeeteeerey
Three persons sit between M |
and L. .

(82-83) ;
"DH>E>0G
H>F>»>D
H>FsD>E>qG
d

88. (4)Raity
89, (2) Except in

179cm 162 ¢cm

. (4) Height of E
62 2162-133"“' of
ccbatwecn
D = (170 - 144) ™

= 35 cm.
g3. (2)D is 162 cm tall
84. (5)
spPRAY—>R @
| -1
' +1
-1

>
—> ¥

~5%

neighbours of R,

third to the Jegt of v,

|.mon?%¥5°m’mi

e T =TT

third persons. i
go. )T pita second {o he gy
of Q-
er two or four PeTagng
Eieﬂt;’ecn'rﬂnd V. it
T sits to the immediate gk
fS. '
; is an immediate Neighhy,
of both O agd S. 5
, ()8 % * 9
ot. (1) A
T B = X P y
Conditon (i) {s applicabje,
.58 & + 4 2 5
207 T vl
HMATPFYTD
93.3)7 % # 2 & 9
A A A
M B K Y L U
Condition (iv) is applicable
4. (4)+ 3 D5 * 8 a
J 4 1 1 1}
A C 2Z X H gz
Condition (iii) is applicahle,
95. 2~ 6 5 4 ¥ 3
A A A A
Z F PTUEKOUZC

Condition (i) is applicable.
96, {i)C=L>E>R>K
Coaclusions
L ReC:True
L L>K;: True
97. [3]0>N=L<Y:L5P
0>N=LSP
Conclusions
L O>Y: Not True
I FP'<'0 : Not True
88. Q)L=I>M>E
ns
1. L > E : Not True
. E=L: Not True
L is either greater than &
equal to E. Therefore. either
Concluston I or Conclustor T
Is true,
9. BDE>Qcu=T<M

l:. E > T: Not True
M20: True
100-14}F5A<T_>_H>E
ns
L F<T:Trye
H. A>E: Not True
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